

2021 COURSE OFFERINGS AT SAINT YON TRADE TRAINING CENTRE

LOCATED AT LASALLE CATHOLIC COLLEGE BANKSTOWN











AUTOMOTIVE

Qualification: AUR20716 – Certificate II in Automotive Vocational Preparation

Duration: This is a 240 hour course that runs over 2 years (120 hour also available).

Can this subject count to my ATAR: Yes

Work Placement Hours: 70

This course prepares students to perform a limited range of tasks related to the mechanical and electrical components and systems of cars, heavy vehicles, outdoor power equipment, bicycles, marine craft and motorcycles.

Possible Careers: Motorcycle mechanic, Light vehicle mechanic.

CONSTRUCTION

Qualification: CPC20211 – Certificate II in

Construction Pathways

Duration: This is a 240 hour course that runs over 2 years (120 hour also available).

Can this subject count to my ATAR? Yes

Work Placement Hours: 70

This course would suit students who are interested in a career in the building and construction industry, building certification or project management in that industry.

Possible Careers: Carpenter, Builder, Shop

fitter, Bricklayer.

BUSINESS SERVICES

Qualification: BSB20115 – Certificate II in

Business

Duration: This is a 240 hour course that runs

over 2 years (120 hour also available).

Can this subject count to my ATAR: Yes

Work Placement Hours: 70

This course would suit students who are interested in a career in the office or business environment and in other personal contact & service occupations such as legal or medical secretary, business management, marketing, advertising and finance.

Possible Careers: Receptionist, Clerical Worker, Administration Assistant.

ELECTROTECHNOLOGY

Qualification: UEE22011 – Certificate II in Electrotechnology (Career Start)

Duration: This is a 240 hour course that runs over 2 years (120 hour also available).

Can this subject count to my ATAR? Yes

Work Placement Hours: 70

This qualification covers competencies for work entry program providing grounding in safety and basic skills and knowledge for work in any electrotechnology discipline.

Possible Career: Employment in traditional light and power, automation, medical technology, the internet and fiber optics.

PLUMBING

Qualification: Statement of Attainment towards CPC32413 Certificate III in Plumbing.

Duration: This is a 240 hour course that runs over 2 years (120 hour also available).

Can this subject count to my ATAR? No

Work Placement Hours: 70

This qualification covers skills and knowledge required to perform a limited range of tasks related to the plumbing industry.

Possible Careers: Plumber, Gasfitter, Roof Plumber.

Delivered under Catholic Schools Office, Lismore Diocese RTO 7054 for Plumbing.

HOSPITALITY

Qualification: SIT20416 – Certificate II in

Kitchen Operations

Duration: This is a 240 hour course that runs

over 2 years (120 hour also available).

Can this subject count to my ATAR? Yes

Work Placement Hours: 70

This qualification provides a pathway to work in kitchen operations in organisations such as restaurants, hotels, clubs, pubs, cafes, cafeterias and coffee shops.

Possible Careers: Chef, Barista.

INFORMATION DIGITAL

Qualification: Statement of Attainment towards ICT 30118 Certificate III in Information, Digital Media and Technology.

Duration: This is a 240 hour course that runs over 2 years (120 hour also available).

Can this subject count to my ATAR? Yes

Work Placement Hours: 70

The Information and Digital Media course provides a foundation in general computing and employment skills that enable participation in an information technology environment in any industry.

Possible Careers: ICT Helpdesk, Web developer, ICT Support Technician.

RETAIL SERVICES

Qualification: SIR30216 - Certificate III in

Retail

Duration: This is a 240 hour course that runs

over 2 years (120 hour also available).

Can this subject count to my ATAR? Yes

Work Placement Hours: 70

(Recognition may be given for part time employment.)

This course would suit students who are interested in a career in retail and customer services roles.

Possible Careers: Retail assistant, retail supervisor, retail manager, customer service assistant.

For more information:

www.saintyon.nsw.edu.au

INDIVIDUAL SUPPORT (AGED CARE)

Qualification: CHC33015 - Certificate III in Individual Support (Ageing) through the Human Services Course.

Duration: This is a 240 hour course that runs over 2 years with the possibility to extend the course to complete the full qualification.

Can this subject count to my ATAR? Yes

Work Placement Hours: 120

(Recognition may be given for part time employment.)

Possible Careers: This course would suit students who are interested in a career in health, nursing or aged care.



To arrange a private tour or for information on a personalised study pattern contact,

Head of Trade Training & VET,

Mrs Margaret Phillips

Phone: (02) 9793 5600 or email:

margaret.phillips@syd.catholic.edu.au

Located at LaSalle Catholic College 544 Chapel Road, Bankstown NSW 2200 Phone: (02) 9793 5600

Email: in fo@lasallebanks town. catholic.edu. au

Web: www.lasalle.nsw.edu.au

Web: www.saintyon.nsw.edu.au